

## Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

## **PURCHASE REQUEST**

PPMP No.: **PPMP-2024-101024-0526** 

PR No.: GF-2024-10-03008

Date: 10-16-2024

Dept./Office: PPO

Section/End-User: Mario C. Bantugan

Category: Hardware

Project Title/Code: 2025 Early Procurement

Funding Source: General Fund - MOOE

Construction materials

item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Angle Bar, 1/4"(thickness) x 2-1/2" x 2-1/2" x 2-1/2" x 20", standard	length	50	500.00		25,000.00
	Specification: Premium Grade					
2	Angle Bar, 1/4"(thickness) x 2" x 2" x 20', standard	length	50	1,300.00		65,000.00
	Specification: Premium Grade					
3	Cabinet handle, 3" (Plastic)	piece	50	50.00		2,500.00
	Specification: Pull in Type, Good Quality					
4	Cut off Blade, 14" x 1/8" x 1", good quality	piece	50	460.00		23,000.00
5	Door Knob	piece	100	1,000.00		100,000.00
	<ul> <li>?Door Thickness: 35-50mm</li> <li>?Entrance Function</li> <li>?3 Keys Included</li> <li>?US32D Finish</li> <li>?High Quality</li> <li>?Heavy Duty</li> </ul>					
6	Drill bit (masonry), 5/32"	pcs	50	60.00		3,000.00
7	Flat Bar, 3/16"(thickness) x 1" x 20'	length	15	190.00		2,850.00
	Specification: Premium Grade					
_	Hinges, Loose Pin, 3" x 3"	pairs	100	150.00		
8	, , , , , , , , , , , , , , , , , , , ,					15,000.00
8	Specification: Heavy Duty, Good Quality			,		15,000.00

		_						
10	Mild Steel Plate, 5/32"(4mm thickness) x 4' x 8'	sheet	2	6,900.00	13,800.00			
	Specification:	•						
	Standard Grade							
11	Nails, Common Wire, 1"	kì	10	90.00	900.00			
	Specification:							
	Smooth Shank			<del>,</del>				
12	Nails, Finishing, 2"	kl	15	90.00	1,350.00			
	Specification:							
	Smooth Shank							
13	Paint Brush, 2-1/2"	pcs	20	85.00	1,700.00			
14	Paint Brush, 2"	pcs	20	80.00	1,600.00			
	Specification:							
	?Durable bristles							
	?Heavy duty metal ferrules							
15	Paint Brush, 3"	рс	20	95.00	1,900.00			
16	Paint Brush, 4"	pcs	10	100.00	1,000.00			
17	Paint Roller with handle, 9"	pcs	10	190.00	1,900.00			
18	Paint, Latex Flat, White	gallon	20	900.00	18,000.00			
	Specification:	ganon		000.00	10,000.00			
	Premium Quality Paint							
<del>                                     </del>	Pipe Fittings, (G.I.) Coupling,							
19	1/2"Ø	piece	15	40.00	600.00			
	Specification:			· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·			
	Schedule 40, Good Quality							
20	Pipe Fittings, (G.l.) Coupling, 2"Ø	piece	20	32.45	649.00			
	Specification:		<u></u>					
	Schedule 40, Good Quality							
21	Plpe Fittings, (G.l.) Coupling, 3/4"Ø	piece	20	50.00	1,000.00			
	Specification:							
	Schedule 40, Good Quality							
22	Pipe Fittings, (G.I.), Tee, 1"Ø	piece	20	30.00	600.00			
	Specification:							
	Schedule 40, Good Quality							
23	Pipe Fittings, (G.l.), Tee, 2"Ø	piece	25	62.40	1,560.00			
	Specification:							
	Schedule 40, Good Quality							
24	Pipe Fittings, (G.I.), Union, 1-1/2"Ø	piece	2	68.30	136.60			
	Specification:	•	<del></del>					
	Schedule 40, Good Quality							
25	Pipe Fittings, Gate Valve(Great Volume), 3/4"Ø	piece	25	650.00	16,250.00			
	Specification:	-		<del> </del>	•			
	Gradual On/Off Valve with Brass Body a	nd Gate	Wheel Handl	e and Nonrising Sten	n, Class 125, 3/4" NPT Female, Heavy Duty			
26	Pipe, (G.l.), 1/2"Ø x 20'	length	50	580.00	29,000.00			
<del>-</del>	Specification:			<u> </u>				

	• Schedule 40				
	Wall Thickness: 2.77mm				
27	Pipe, (G.I.), 3/4"Ø x 20'	length	50	1,000.00	50,000.00
	Specification:				
	Schedule 40, Good Quality	1			
28	Plywood, Marine, 1/4"(thickness) x 4' x 8'	piece	150	580.00	87,000.00
	Specification:				
	Standard, Good Quality	1			
29	Plywood, Marine, 3/4"(thickness) x 4' x 8'	piece	300	1,650.00	495,000.00
	Specification: Standard, Good Quality				
30	Roof Sealant, All-Purpose, 1L/can	cans	100	540.00	54,000.00
	Specification:				
	Premium Quality				
31	Sheets, (G.L.) Corrugated, Gauge 26 (0.551mm) standard width x 10'	sheet	350	750.00	262,500.00
	Specification:	<del></del>			
	Standard, Good Quality				
32	Sheets, (G.l.) Plain ,Gauge 26 (0.551mm) x 8'	sheet	50	600.00	30,000.00
	Specification:				
	Standard, Good Quality				
33	Steel Bar, Deformed(Corrugated),10mm x 6m	length	300	250.00	75,000.00
	Specification:				
	?0.616 kg/M PNS 230				
	?ASTM / Grade 33 Structural				
	C41 D			·	
34	Steel Bar, Deformed(Corrugated),12mm x 6m	length	100	330.00	33,000.00
	Specification:				
	ASTM / Grade 33 Structural				
	, to this condition of the condition				
35	Steel Bar, Deformed(Corrugated),16mm x 6m	length	200	550.00	110,000.00
	Specification:				
	ASTM / Grade 33 Structural				
36	Steel Bar, Round (plain), 10mm x 6m	length	50	295.00	14,750.00
	Specification:	<u>l</u>			
	Standard Grade				

Desig	gnation:			UNIT	HEAD, I	PROJECT LEADER	PRESIDENT, VSU	
Printe	gnature: MARIO C. BANTUGAN PHIOE				D BALUPO	PROSE IVY G. YEPES		
0.		Prepared by:		Noted by:			Approved by:	
T₩G - Hardware						HEAD, BUDGÉT OFFICE		
		MARCHO P. BA	NDALAN	ALICIA N. FLORES AP 25				
Che	cked by:	NN NN				Funds Available:	0 1/	
Puŋ	pose: Early	procurement BHM						
		TOTAL					1,620,795.60	
	Specificati Good qual							
	Wood glu		ki	50		450.00	22,500.00	
	Specificati Premium (							
		Rod, E-6010, 1/8"	kl.	100		200.00	20,000.00	
38	Water me	eter (1 1/2 size)	рс	1		4,000.00	4,000.00	
	Specificati Standard							